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, PAPER—I , .
’ Note :— Th1s paper contains fifty (50) multiple-choice questions, each carrymg two
(2) marks. Attempt all the questions.

ool - }tﬂft\{?l‘i,l 4 MO otg,[aac\m Wil 8, azsvu Q ARl . o4l ¥ WAl
TR TR

Complete the series (Q. Nos. 1-3)

1.

1, 8, 4, 8, 16, ? S
A) 30 (B) 31

(C) 32 o D) 33

10; 12, 16, 22, 30, ?

(A) 40 . * | ®B) 50

(C) 60 ‘ ®) 170

240, 240, 120, 40, ? o

A) 30 : (B) 20
. (C) 10 | . ® o B
Aol yef sl (wad - a) o
1, 3, ¥, ¢, 15, ? |

A) 30 ®B) 31

© 33 o ®) 33

10, 13, 15, W, 30, ?

(4) ¥o - | (B) uo

(© so | D) 90

¥0, WO, 10, xo ?

(A) 30 “(B) R0

(©) 10 | D o

If CENTRAL has been coded as XVMGIZO, what will be the correct code
for PHYSICS ?

(A) KSBRHHX (B) HXBHKRX
(C) KSBHRXH , (D) HXRHSBK

. XVMGIZO % CENTRAL $is i di PHYSICS il Al 5iS sa‘x eu? u} ?
(A) KSBRHHX (B) HXBHKRX
(C) KSBHRXH " (D) HXRHSBK
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5. If GOAT is coded as HPBU, what will be the correct code fore LIME ?

(A) ORNZ - (B) MJIND

(C) KHLF | D) MJNF

2 GOAT i $is HPBU 8, dl LIME < W3\ 5§ s4l s,al ?
(A) ORNZ (B) MJND f
(C) KHLF ®) MJINF

6. If CHEMISTRY has been coded as DGFLJRUQZ what will be the correct
‘code for DESIGN ?

(A) EDTHMN (B) EDTMHN
(C) EDTHNN (D) EDTHHM
. CHEMISTRY -ii $iS DGFLJRUQZ 8, dl DESIGN il w3l $is s4i &S
ay ? s
(A) EDTHMN ' (B) EDTMHN .
(C) EDTHNN ~ (D) EDTHHM
7. If CARPET is coded as XZIKVG, what w111 be the correct code for i
MARKET ? ’ |
(A) NZIPUG (B) NZIPVG
(C) NZIQVG : (D) NZIPTG ‘
A CARPET i $is XZIKVG ©, dl MARKET -+l 2l §is s4l 61 a3 ?
(A) NZIPUG | (B) NZIPVG
(C) NZIQVG - (D) NZIPTG

8. The quality of research is judged by the :
(A) Relevance of research
B) Methodoloéy followed in conducting the research
(C) Depth of the research
(D) Experience of the researcher
Aalaasid-l daadidl Qs ad i © -
A) dwadrdl ugdad wual
B) AwaAsdui.dsidl g 2uad
(© dular-u Glsiad suad
(D) Hlasl AgMHAA 20

Paper I—B 4




10.

11.

12,

Which one of the fOllowing,' statements is not correct ?
(A) Any person can do research.

(B) Research may be without a hypothesis.

(C) Research requires library facilities.

(D) Research is not always systematlc

(A Qail A4l 4 Qe wig 8 7

A) SIS uR A Al 530 ul,

®) swd ydRigid [ qad as a3,

(© Aannd w2 gwtaq—@[am%&r[l o3Ruld €l 9.
©) ddad §da Hgolg el did..

The first step of research 1s

(A) Selection of Problem (B) Identification of Problem

(C) Definition of Problem (D) Locating the Problem
Aalansidd udg A O - |

A) xRl wieall B B) Al iau

(€) AnAU-A] aamoidll (D) dWad Ax -ishl 323
A good researcher must possess :

(A) an inquiry mind - (B) a master’s degree

© a good health (D) enough funds

AR AWHs WA ¢lg &6& | »

@A) Baiy wt - (B Agrldsl Gul

(©) dgdl S (D) vl AR

Which one of the following statements is not correct ?

(A) Hypothesis and assumptions are not same.

(B) Problem refers to variable. :

(C) Quantitative data can be converted into" qualitative data.
(D) Qualitative data may be converted into quantitative data.
Qi Qe AR 54 Qe wig & ?

@A) ylRgia 1 ddldl 28 ol

(B) MR- Ay uRad-fladt d 9.

(©) Avwaell sl ynasfl avlal 34l asu 8.

@) yaasl w3l Avaiasl wnsllni 34l wsin V.
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13.

14.

Read the following passage and indicate' the correct answers of the
questions 13-16 : _ ‘

Both plants and animals of many sorts show remarkable changes in form,
structure, growth habits, and even mode of reproduétion in becoming adapted
to different climatic environment, types of food supply, or mode of living. This
divergence in response to evolution is commOnly expressed by “altgring the
form and function of some part or parts of the organisin, the original identity
of which is clearly discernible. For e;:ample, the creeping foot of the snail
is seen in related marine pteropods to be modified into a ﬂépping Organ useful

 for swimining, and is changed into)prehensile arms that bear suctorial disks

in the squids and other cephalopods. The limbs of various mammals are modified -
according to several different modes of life-for swift running (cursorial) as in

the horse and antelope, for swinging in trees (arboreal) as in ’thé monkeys,

for digging (fossorial) as in the moles and gophers, for flying (volant) as in

the bats, for swimming (aquatic) as in the seals, whales and dolphins, and
for other adaptations. The structures or organs that show main change in
connection with this adaptive divergence are CommonTIy identified readily as
homologous, in spite of great alterations. Thus, the finger and Wristbones of
a bat and whale, for instance, have virtually nothing in common except that
they are definitely equivalent elements of the mammalian limb...

Which of the following is the most appropriate title for the passage, based

‘on its content ?

(A) Adaptive Divergence . . (B) Evolution

(C) Changes in Organs (D). Our Changing Bodies

The author prevides information that would answer which of the following
questions ?

(I) What factors cause change in organisms ?

(II) What is the theory of evolution ?

(IIT) How are horses’ legs related to seals’ flippers ?

(A) I only | " (®) Ionly

(C) 1 and II only * (@ 1 and III only

Paper 1—B | 6




15.

16.

13.

Which of the following words could best be substituted for ‘homologous’ without
substantially changing the author’s meaning ?

(A) Altered (B) . Mammalian -
(C) Corresponding ; D) Divergent
"The author’s style can best be described as :

(A) Humorous ‘ (B) Objective
(C) Esoteric - (D) Patronizing

A4 wRde aial z»t-l ussiis 43 ol 45 Al wUeL UL ;-

goUL M1 Al AriRuR 20 BR ns i e, 6l dddi zqgu bmwet
Geald, 2l 2 Norettll suotdml launl 32530 euld 8. R i
5129 wulaRn g0 Ui, Guasy Adl UdI—vliLsiA 5128 3 8arl
Add 5129 2L ol 52810 Adl €A B, GBesilarl olani 2
32511 RBaidR—vaddadani a3y 217 sidul 3siRl el e aslaid
B, Yooy o, Au saUML, e AAAHL 21 B, GelsR dv.'l} ASasl
oivfBd tear 12l 4oL sRuuS 2UULSL daL Mt 555512 53l a»tcmqgﬂ
3l . w1 aoll A, Rsas (eu ogaaug] olsnoua ¥g eRas well) 2
vy AsAUISE (ud audiell 1&9\—&[‘1&%&—%@ st adld wsll) - ysallRua
sal q1adl yeosiad wiani Qs goua 8. [Alaa Us+ A eellutiai
waadl, Al RRY @Rl AguR 3. — 3oL 3 dist v sl

ol (selRua) ui @ild gis W2, AlewUAL RSl UR (mn&&z{a) Rasal

W2, ¥ %, 998 A @R{wc{l«ﬂ Adini (SlRue) ol viieal we,
qsaeli, mmzmézuvﬂ Adimi (dlare) Gsal w2, Hla ka, siesl (Gomz
eSS oftctet sll) +{l AciHE Al MR, 247 By Bigsarl We. gwa Bl geril
Aeal 33812 ¥ vaudl 3 AAAHL AR 22U 9, A AHIAA: AR Y dIW’
33512 13 2iavid ©, wdl oA Hial $SIL 81y dl uaL. v d, Gelsr@

a3, anadils A AMRARY A darll 2ol 247 sisii ei1ssi a2 eslsdul
sgu waug) A, R 3 At el 3L ssl adladl vadd 9,

2 suldai s ﬁélg 3g a[l\is WRaderl arg et Rl qg QoY 8,
Q ogRudl | |
@) sl Rawdz @B Gesild

~(©) »oumi wRad+ (D) Rl siealal a3l
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- 14.

15.

'16.

aud audd) wRd, (A ALl s wseiell G WA B ?

@ AR dAHD sui WRAW 3512 53 ) ?

) Gesiladl Rgia @t & ?

D diStit YL A Al (s10u 3q m@ﬂ) U ARl 2yl Ad %3, UMY
& ?

A) WA I | (B) WAL 11

© I II 3t D) I v I 3ot

Auisd 2R 23 ouas 4 A Ad sl wse uggu’ (Homologous) 7\

wadl 8, d AAumidl aldl |

@) WRalld (Altered) ~ (B) ¥ well (Mammalian)

(C) WY (Corresponding) D) [Bwx (Divergent)

Austl Adl Gua A 2un qeldl wsy ¢

(A) SRU%FSAYD |

-

- (B) axgasl

(C) dlau ¢ladl aist o AHD U3 &cﬂ

| D) Yoeflazel siqaufl

Read the following passage and indicate the correct answers of the
questions 17-22. ,

‘The atmosphere is a mixture of ‘several gases. There are about ten chemical
elements which remain permanently in gaseous form in the atmosphere under
all natural conditions. Of these permanent gases, oxygen makes up about 21
percent and nitrogen about. 78 percent. Several other gases, such as argon,
carbon dioxide, hydrogen, neon, krypton and Xenon, comprise the remaining
1 percent of, the volume of dry air. The amount of water vapour, and its

- variations in amount and distribution, are of extraordinary importance in

weather changes. Atmospheric gases hold in suspension great quantities of
dust, pollen, smoke and other impurities which are always present in
considerable, but variable amounts. '

" The atmosphere has no definite upper limits but gradually thins until it becomes

imperceptible. Until recently it was assumed that the air above the first few

Paper I-B 8



miles gradually grew thinner and colder at a constant rate. It was also assumed
that upper air had little influence on weather changes. Recent studies of the
upper atmosphere, currently being. conducted by earth satellites. and missile
probings, have shown these assumptions to be incorrect. The atmosphere has
three well-defined strata. ,

The layer of the air next to the earth, which extends upward for about 10
miles, is known as troposphere. On the whole, it makes up about 75 percent
of all thé weight of the atmosphere. It is the warmest part of the atmosphere
because most of the sqlar radiation.‘is absorbed by the earth’s- surfage, which
warms the air immediately surrounding it. A steady decrease of terhperature

with increasing elevation is a most striking characteristic. The upper layers

‘are colder because of their great distance from the earth’s surface and rapid
radiation of heat into space. The temperatures within the troposphere decrease
about 3.5 degrees per 1,000 foot increase in altitude. Within the troposphere,
winds and air currents distribute heat and moisture. Strong winds, called jet
streams, are located at the upper levels of the troposphere. These jet strea\ms
are both complex and wide spréad in occurrence. They normally show a wave-
shaped pattern and move from west to east at velocities of 150 mph, but velocities
as high as 400 mph have beem noted. The influences of changing locations
and strengths of jet streams upon weather conditions and patterns are no
doubt considerable. Current intensive research may eventually reveal their
true significance. ' | , |

Above the troposphei‘e to a height of about 50 miles is a zone called the
stratosphere. The stratosphere is separated from the troposphere by a zone
of uniform temperatures called tropopause. Within the lower portions of the
stratdsphere is a layer of ozone gases which filters outmost of the ultraviolet
‘rays from the sun. The ozone layer varies with air pressure. If this zone was
not there, the full blast of the sun’s ultraviolet light would burn our skin,
blind our eyes, and eventually result in our destruction. Within the

stratosphere, .the temperature and atmospheric composition are relatively
uniform.

Paper B 9 ' | P.TO.



17.

18.

19.

-~

'The layer upward of about 50 miles is the most fascina\ting but the least

known of these three strata. It is called ionosphere because it consists of

~electrically charged particles called ions, ‘thrown from the sun. The northern

lights (aurora borealis) originate within this highly charged portion of the
atmosphere. Its effect upon weather conditions, if any, is as yet unknown.
Which of the'following titles best summarizes the content of the passage ?
(A) New methods for calculating the composition of fhe Atmosphere

(B) 'New Evidence concerning the straﬁﬁcation of the Atmoephere

(C) The Atmosphere Its nature and importance to our weather

(D) The underlying causes of Atmospheric Turbulence

~ Accordmg to the passage, life as we know it exists on the earth because the

atmosphere : |

(A) contains a layer of ozone gases.

(B) contains electrically charged particles.
(C) is warmest at the bottom. |

(D) carries the ultraviolet rays of the sun.

The passage supphes information that WOuld answer whlch of the following

questions ?

L4y How do the troposphere and the stratosphere differ ?

(II) Hovh does the ionosphere affect the weather ?

_'(III) How do earth satelhtes study the atmosphere ?

(A) I only | : . (B) II only
€ 1II only O I, I and III

The passage states that the troposphere is the warmest part of the atmosphere
because it :

_ (A) is the closest to the sun.
®) ‘raaietes heat into space.

(C) ‘has iviyvinds and air current that distribute the heat.
(D) is warmed by the earth’s heat. |

‘Paper [—B 10



21.

22.

According to the passage, the atmosphere consists of all of the following,

~

except :
(A) 21 percent oxygen-

(B) a definite amount of water vapour

(C) ten permanent e;lements

(D) considerable waste products

It can be inferred from the passage that at the top of Jungfrau, which is
\ '12,00_0 feet above the town of Interlaken in Switzerland, the temperature is

usually : -

'(A) below freezing _

(B) warmer than in Interlaken

(C) about 42 degrees (;older than on the ground
(D) about 75 degrees colder than in Interlaken

Al uRaBe il A weL sHis 19 fl W A WAL ol YAl

Al R 32als Aydilg Pst . Al eds NAMRLS dedl ¢in 8. wyzld

Qv arciarRml R 8 8. uslls RuRH Al du 8. san 3U WL

AL UBAYAG WL 197 U B, A AUSAAA, WD 9¢Y SId B,
3208 Bled UYL F 3 U004, sl6l sLllsuss, eisgior, ui-, Bue-,
Peiiet Hoflrl YL Sl 35 251 $EHL 1A D7 Sellrll Loy NHIR i, Ao, [Qou-
SAMIArL F1RL 32 RUAIRY HeTd 414 8. £l58ls il uL uRadrdlazd
gaidi gall 2%, UL Y, YHISL AA ud AYR Qyadin 8l dlu

8, dud adtaelly Ayl wesidl a9,

atcdla @l 516 Gur uulsl €idl ell, uIg A vgeuzu A W &l @l
WML SMAU WY ad el B, 85 vyl Ad A 2uag ed 3 s
s WSl Glasa s3et LS @lE A wasll adl Au & 2 88l usdl
Ay §. Ag w g 3 Gul GRS carl s U wed AR iU
8. adsiai yell uell sisic A2arfel x1A Pusa—duidl gl ¢ 41d
eIl 2 ldiA vzl wsul 8. sardql YABAA A” W B,
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salg As d yedlell eds wdarll Glududd 20dd. AA ZviRsuR
(el Hs) s 20 B Aswe, SAUMUAAL §& Al OY 251 il
ol 9. sl L ALYl ag GwRdUA QLAdl ML B, SR 3
yluourit Bl yedl-l wdl wudl A 8. suw-dl sar el dad
AN, WA 8. FH FU sdl GlaiSu Al MU A AX AL BLSHURL BaLS)
gatl ua- Aell eeasdl A 2 A B, GuAAL WL am 5L Gl B
S22 3, yeellell AWl Q3 2idR viel Az id B A vasianl A
Bl Gl sel uar #id 8. uds As ¢ el eRuS wwd- aadl
Qg AuiRsu -l vied drwsuqt 3.4 Sl @aetor 82 B, ANiRsu i waril
A gUS Hael AWML A FAadl adaRll sl ¢in V. F2 P d3
ottt disil da-dl, 2NiRsuz+ll Gul AR ¢lu 8. »u F2 W+l
42l Aga 2 s AU elu 8. ol Raud Ffl Al Aed diu 8,
140 A LA {l 36 uBxHefl ydoll Rauni Q 4 &, ¥oo A, NIRER ]
Carl sy uR dadel 8 waid A F2 il disia sl RaRal
A olidl U, Rugis daust adldl €t 8. dtFdcl Aue Ahast gl wi
2 WA A HeTa U2 AT A
~ AiiiRsua -l wo sl Gausa AU, RUARsURAL B Y z»u&cu AU
8. AnAHrawou IRsH YL 31 RIARSUN el ARUHL 20 B, WRARSUR AL
131 cuolial iofiet g us Gl B Yol Mieleudirl ealdBs Beidg
LT AR WA B, ealril LU AAAIR e US vledld Q. B 1 i
A+ elet ol Yl 2ieaide usi el wnslA oudll Avd, 2tiviA gRRRA
53 Ui 2 YRR 249 Rbert ag el RUAREAHL dlusud 1A gapiirie
aRe dariui dadl g ¢lu 8. | |
w0 wsa AL GURe us Alll susales 9, uig il [Ad dl
ey o WRA %A 8. A Spl-AiRsU (2uuq H22) a3 viaviaw B,
s122 3, RedaBadl neufd sudi- (sl 3sid) seiel »i wna- 32

el ¢lu 8. Gule usia (ga WL 1@ usia [ YA wR) 4 3 20
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17.

18.

19.

20.

21

QA-UAUARSA AlcldAUL &4, O, AUy ul‘zl%u[&w Y A+l 3dl
A B, d 20 s Aasl -l

{3 M«i s34 [Als wRawder [Qvuagn alell an‘l A P@al 3 7

@A) acta@adl a-irl ool s2aL Wl adl uglel

B) actaa~{l tsaell-l oustdui d-t umcu

() AR : a-l ugl?t 2l UYL St zwit &;1, Herd

(D) A% cliglvini ofld?l sl
WReAd daR yedl 4 wandgd 3Rda 8, s 3 adiaranl :
A) i SR AU e B
@) Rgdell wef adean 5@l Wai
©) a@d q Al as} G apd B
@) Yd-u sezaiide el A

YRaeui Adl Ml sivani 2uddl €, -°zr A2l 54wl GuR
iyd ? |

@ ANREAR A Qﬁlalﬁ&%?. 58 zu y$ & 7 )

) st Y SIARSU 3dl v 52 B ?

am yedl - Rafer aidiasdl 3dl A seurt sz 87
(A) &5d 1

B) 8§54 II

(C) §5d III

D) 1, II 4 111

yRade suld © 3 ;Nlﬁ'&'{% qtcqum 2{‘1%[1 el G gRLadl eudL 6§,
5 3

a) Y-l Al aws &

~ B) asiaml AL wAR ©

(© A adusll scl yaril A saledl N iy ©
@) yeli-ll 2l @2t A Guuay W8 8

YRagge duu adia@ i sl q&g 8, [itq.m 5
@A) 21 251 WBAY

® BB wueani wel- aia

© e [l dzdl

@) 4585 sl 2us Qmu
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22.

23.

24.

25,

WRadertl 2uad g 30 sy 3 Raosdesl $22a54 adell 13,000
gle-l Gludal 2udal gat%& Qe drsun asued: zé &9

@A) AsBegell Az

(B) $eds sdl aaul Gwic{[@ |
©) el s3cti ¥ B aumd’ $§'
D) $22d5 s2di oY Soll. qeuz 6§,

If I say ‘sky is down and winter 1s hot’, 1 would call a cnmmal

(A) Gangster B) A cloud

(C) Saint o (D) Dehnquent

A g s¢ 3 s A 24 Brual ain &7 dl g Qg,-mn s8a :
@) Joueidl-l HA S (B) Ay, -

© At - ' (D) nEl

If Dolly’s mother is John’s father’s s1ster, what relatlon is John ‘to Dolly’s
father ? : :

(A) . Cousin : " o (B) Nephew

(C) Uncle , ° (D) Brother

SiellAll Hicl weiri R qért 9, dl sl Sl mcu A syl Aoiy
ayl ?

A) sis1, SIS, WL 3 mﬂj At (B) Mol
(©) sisl o . @ ous,

Establish the relatlonshlp between the first two items. Find out the same
relatlonslup among the choices which follow the pattern of the two items :

20 : 21 :

@ 6:10 - : ® 10:8

€ Ss:V - D) A:B
ydell & [Qordti 9AAL doeiy AL A Q ERTIET] wu-l lmeo{l-ﬂ ol 44+
56 [Qdd A Aela aad& 8 7

RO 1 R

'(A) §:10 . (B) 10 : B

© S:V ® A:B
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26.

27.

28.

29.
- is the number of students enrolled in Arts faculty ?

30.

Study the Pie-chart and answer the questions 26 to 30 :

AANA}

AAA [*FF
Engineering ‘é?‘
ANAN | /

What is the percentage of total students enrolled in Medical and Engineering
faculties ? '

. A) ~33.5,0 B S C B) 50.50 -
(C) 37.50 : D) 25.50
What is the percentage of students enrolled in Arts and Science faculties ?
A) 90 B) 60
(© 50 | D) 45 |
What is the percéntage of students enrolled in Arts and Enginéering faculties ?
A) 62.50 o B) 175.00
(©) 5050 o D) 33.33

Suppose that the numl;er of students enrolled in Engineering is 320; what

A) 450 - (B) 460
(C) 470 | D) 480

Suppose, the number of students enrolled in Eng'iheering is 320; what is the

- total number of students enrolled in Commerce, Arts and Medical faculties 7
(@A) 700 S ‘(B) 800 |

(C) 900 (@) 1000
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26.

27.

28.

29.

30.

WS—AEAL 200UA S 2 S Yl 30 UL WAL AU DU :

ARsa A ARwGRSL wvini elvid adal ([Qanellaidl 54 2siaRl
gulal :

(A) 33.90 o | . (B) 40.MO.

(C) 39.40 ' (D) JL.NO

S Vi AU éscél-*oum el adal [Qepellaiisfl esial amudl :

@A (B) SO

() wo R D) ¥\ -

W 2 AU Fseduiin evia wdean Reaelsil 2sial opud)
(A) $.40 | (B) 94.00

(C) WO.NO - ‘ (D) 33.33

L 3 AMRUR A 3sedui aiva qdal Renlluiiel vl 320 3 cu w8
55edlui Jeal [Qeul2il eive gyl ¢ ?

(A) ¥VO B) ¥50

€ ¥o0. . . -~ (D) ¥¢O '

WA 3 QWR«&O{ ?xscélm elud adal Qenliil dvay 3209, di s,
WY A ARse Fsedbilul eva adan Rensllxiil ga Ava Jedl ¢ ?
(A) 900 o (B) ¢oO :

(C) oo < (D) 1000
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(For Blind Candidates Only)

Note :—Read the following 'passage and answer the questions 26 to 30.

26.

27.

28,

29.

30..

Observe the dilemma of the fungus : it is a plant, but it possesses no chlorophyll.
While all other plants put the sun’s energy to work for them combining the

nutrients of ground and air into the body structure, the chlorophylless fungus

must look else where for an energy supply. It finds it in those other plants

 which, having received their energy free from the sun, relinquish it at some

point in their cycle either to animals (like as humans) or to fungi.
In this search for energy the fungus has became the earth’s major source

~of rot and decay. Wherever you see mold forming on a piece of bread, or a

pile of leaves turning to compost, or a blown-down tree becoming pulp on
the ground, you are watching a fungus eating. Without fungus action the
earth would be piled high with the dead plant life of past centuries. In fact,

certain plants which contain resins that are toxic to fungi will last indefinitely;

specimens of the redwood, for instance, can still be found resting on the forest
floor centuries after having been blown down.
Which of the followmg words best describes the fungus as deplcted in the

“passage ?
(A) Unevolved | (B) Sporadic
(C) Parasitic ’ D) Toxic

The passage states all the following about fungi, except :

(A) They are responsible for the decomposition of much plant life.

(B) They cannot live completely apart from other plants.

(C) They are poisonous to resin-producing plants.

(D) They cannot produce their own store of energy. ,

The author’s statement that “You are watchmg a fungus eatlng’ is best

- described as : o ,
(A) Figurative _ (B) Parenthetical

(C) Erroneous - (D) Contradictory
The author is primarily concerned with :

(A) Warning people of the dangers of fungi

(B) Writing a humorous essay on fungi

(C) Relating how most plants use their solar energy
(D) Describing the actions of fungi

The content of this passage relates to :

(A) Chemistry : (B) Botany

(C) Zoology (D) Physics

Paper I—B 17 P.T.O.



26.

217.

28.

29.

—

(u.m g [Btsatat Reandl2il wid)

Ja - {A4 uR8e il AR wrsHis 26 dl 30 U A WL

goie{l UMY R s A 8is B, uig -'&au salRiBa o 8ig
“A2l. e 9181 Wil AL AL oA 21 watiall Ying Aadi yhakda
wani & B, cll sdiiBFalRsd 83 ald w2 o0F sais da 320[1 s 6.
e 34 WAl Aadl adn 5155 s U & B, sms dl meﬂw
w2 (el Hgr W) ¥ gl o we. |

QaflEa-{l 2udl slie sl §91 2 4l W2 oPus i -wug You 51281
oirfl . GLSTL 251 UR §2UTIL SR OUAAl FUUR FAUR AGH, WA Gartl HiesitiL

2911 sdldldl ASH, 2uaild qa el R diei wRad ag ASA, AU -

LR fgn& wicl A Gl 50+{], vl z»uc[l Bt o2 yedl Y old A€kl
Y qail 29, ariuRL Gl 23 @l odal did. edlsddi, A0t deasl 4iadi
Zeals 9ISl A a-ruld 591 w2 AT oA s9 29 A RGBS HR2 2% W,

Gels d13, ale DIl ALSSIFL Ay Uil %ata«[l GHY YR ASCL U U

- owyofl 209 9, :AH& wus—tqaud AL ddl sial eodiu.

{3 calda aoel A4 sl Wt 91 (Fungus) 4 s5040 dlell Al z‘l& agl+,

5269 7

@ udlasRa (B) 989Uy,

(€) wiuedl @) I

WReui 89 QA As onod R og o sdadd & ¢

A) §3 Al @ansl sside e QAN yaweelR 8

@) ol a-iufil Ayelud o d dl wasdl el

©) AN Geut 5l adRul W2 §o1 B AR U B

@) Ged-l Ane & ut& Geur 530 wscll A2l

@l& Al vl g2l ol Avd s . R Al Rl Rd q'a[qg Sy

dl A 2 ueeell agldl usiy -

Aa) 2udsiRs B) yleaisy

©) g @ [

Auisdl Youd Froid &

@) sl eEdsc [ alsiAl vlclcugﬂ :»tmc[l

® & @ [-d FRoia avwal |

(©) uieL ewdusll qvwll?tw il yd @%[at&t 3d) FA awd @ arfl ot
s5dl

@) %l sl asld 39
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33.

30. u[izés.@ [ﬁbqug vﬂﬂ-umeﬂ Aoila & ¢
o A) ?.-'&l‘l.@l%ll%ﬂ B) Q‘i%‘l[aﬁll@l
(C) DAARA @) elRswad
‘Study ‘the followmg arguments and write (for Q 31 to 33)
(1) if only inference (I) follows
(2) if only mference (II) follows
3) if .both’of them follow
(4) - if neither of them follows _
31. All streets are watches. All watches are eagles. Therefore :
(D Al streets are eagles. '
din An watches are streets.
@A) @ ® @
© @ | | ® @
32. | All boys are mothers. All mothers are father Therefore :
@O Al mothers are boys. | ”
(II) All boys are fathers , .
(A) 1 A : ® @
© @ - ® @
Monkey is a bird. Some ,l)irds are clouds. Therefore :
(D Monkey is a cloud. |
(1) Some_ clouds are birds. ,
@ W . B) @
© 3 D @ ,
AL Qe oudel qial 21w 31-33 w1 que)l Sy
(1) A A AP @ A AT
@ A WA g @D A wgudR
@ R G A AU
@ A il AsIu gARAM] A Wi
Paper I—B 19
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31, ol A alwol 8. wal il yast 8. di
@ ol A0 yasi & |
D oal aua A0 8
@A @ o o ®B) @
©) (3) » - D). @ S
32, OlEL oLsAL Ml 8. ol mcua»u Rzl 8. &aﬂ :
@ ol Ml oLsUABL B,
I ot 9520 il @

| @A @) ; ® @
' ©) (3 - G | O @
33. qiel w4l 9. Qacus yellail cuacru . adl :
@ - die ey ©. :
D) 3eals aeai waflu 8. |
@ o o e B) (@
© © S S D @ R
Expected as well as actual increase in export of dlfferent 1tems are glven in
the following table. Study the table and answer the questu 15 34 to 38. Take
into account the proport1ons of expected and actual export
1990 A 1991 1992 1998
| Items E{ A | E| A| E| A| E| A
Rice 9 | 60 | 120| 60| 150| 60 |. 200| 60
Sugar 100 70 | 200| 140 300 210 400| 280}
Wheat 100| 75 | 200| 150| 300| 200 400| 300
Textile | 500 | 450 | 700| e00{ s00| 700 | 1000| 850
Machinery | 1000| 600 | 1500| 700 | 2000| 1500| 2500| 1500]
_ Electronic | ' ] S5 R
Goods 1500 1200 | 2000 1500{ 2500| 2000 | 3000{ 2000
| E = Expected A Actual o
Values are glven in crores.
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34.

35.

36.

37.

38.

Which item indicates consistent decrease in the export.during the four years ?

(A) Electronic goods (B) Textile o

(C) Rice ’ M) Sugar =

During 1990 which one of the four items had the highest percentage of export ?

(A) Machinery ' (B) Textile

(C) Wheat (D) Sugar

During which year the percent export of wheat was the lowest ?
- (A) 1990 . b . ®) 1991 - .

(C) 1992 ®) 1993

In which year sugar export was the lowest ?

(A) 1990 B) 1992

(C) 1993 . (D) None of these

During 1993 which item has the lowest percentage of export ?

(A) Rice (B) Sugar .

(C) Wheat (D) Machinery

[t argii-l Rsiuul dvudl @

UNA dH o ardlds Qi QA el QA suvani a»uoll 0. a-il
e 5 UsHis 3y Yl 3¢ Grn. L. AR u& Qs Ptsmvu
Wi 2undl ad.

1990 1991 1992 1993
Items E A |'"E]|] Al BE| A E A
Rice 90 60 120f 60| 150 | 60 | 200 | 60
Sugar 100 | 70 | 200]| 140| 300 | 210 | 400 | 280
Wheat 100 | 75 | 200]| 150| 300 | 200 | 400 | 300
Textile 500 | 450 | 700 | 600 | 800 | 700 | 1000 | 850
Machinery | 1000 | 600 | 1500 700 | 2000| 1500 | 2500 | 1500|
Electronics | o | | '
* Goods 1500 | 1200 | 2000 1500| 2500 2000| 8000 } 2000

S (B = 2UBd, A A) = ardls -
ey Sl Buddi 2uvami »uda 9.
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34,  Guu WR ay &zﬁtu-t 1) ng,vﬂ Rsid Add usdl otcuél 97
INBECERIEE m%ngw
- (B) 2sR15d
(C) Alvil
® -l | |
35. 4o e r[lvlvﬂ AR ngm 4L 35 axgll M-l aateuz‘l Alfl qau?
edl ?
a) xl1?l
(B) 2s2Ada
(© 4G (cdle)
@) A (Yar)

136. suL a9+l Rsm-{l astcuﬂ 242\%[[ = edl ?

(A) 1O
B) U
(C) LR
@) 1ce3
37. - sa a¥l Al [R5 z&zﬁ -azu el ?
@A) weo
(B) AR
(C) 3
D) As3y a¥
38. w3 U v v[lvlvumeﬂ 55 ng«(l me-{l sl el Al edl 7
A) AvL
® A
(C) G
® Al
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39. Which word does not belong to the other three ?
(A) Think
(B) See
(C) Hear
(D) Smell ,
sl woe oflog ARl WA sl Al ?
@) [aarg
B) g
(C) W™y
@) 3yad
40. Find one group of letters which is different from the other three :
(A) TRP |
B) SQO
(© TVX
‘ ® YWU
; g al—ox9 alal, ¥ oflot v agf—opeeefl [t & :
(A) TRP
(B) SQO
(C) TVX
| D) YWU
41. Teaching refers to :
: (A) giving information related to the subject.

B) creatin‘g“environment that is conducive for learning.
(C) dictating notes in the classroom.

(D) solving difficulties of students related to the‘Subject. ‘ |
e Aed : | Lo

A) S @Awy- doiani WRA 2iudl.

(B) U W2 g0 A} UG,

(© adl-visHi viequ@nami bl aviadl.

O vew@vyHl Rel2iAl y3dial Giadl.
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42.

43.

44.

Which one of the following statements in not true ?

(A) Majority of teachers use lecture method.

(B) The lecture method is less structured.

(C) Lecture method is the best for giving more information 1n less tlme
(D) There are well-defined steps of lecture method

(AL [Qendiiell sy Ra wig © ?

&) el ool [Rast cvad-yglidl Gualal 53 9.

(B) culvdirl-ugl 2iledl Yald €l 8.

(C) 2Mieol AHYUL a4y HURA Ausidl Bal W2 Ary-ygl a‘leﬂ Ars uald
8.

D) - Y gRini Yo Sd AL 6.

Good teaching is best reflected by :

(A) meaningful questions asked by students
(B) attendance of students

(C) number of d1st1nct10ns. ,

(D) pin-drop silence in the class.

AN Raw sd- A udll cnl wy sl
A) [Qensllzil gl A usedl yeouu.

@B [Qenfl»il-l aol4i GuRAR Q.

(© il Avur €,

@) adl-visui 2isell 48 A At ae(l alld ey,
The main objective of teaching at higher education level is ;-
(A) to give information. :

(B) to develop reasoning and thmkmg ablhtles
(C) to develop expression power.

(D) to develop study habits.

Galfiasaun Rawasid-Al yoy g 8

A Wl uyal-l.

B) df w7 Qafladidl al3daaia [ﬁswqcuru
© AAl3d-aBdl [Qsumaadl. |
D) dieA-2A [QsAlaqll.
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46.

47.

45.

Noise in the classroom is best indicative of :

(A) Only interaction among students.

(B) Only interaction among teacher and students.

(C) Only interaction between teacher and student.
D) (A) and/or (B).

aol-visHi udi ditne Gad Ad YR s D ¢

@A) Wi Qe a2 v adl Ba-uldZun.
@) WA [Ras 2w Rendlall a2 adl Bui-ulBuA.
(© A Ras xa [Qendl 9 adl l?szu ula[}au&
D) (A) ¥/ (B). |

A student is reading a book at home. In this situation :
(A) There is no communication. '

(B) There is a communication.’

(C) There is a two-way communication. .

(D) There is only non-verbal communication.

Renel Wicid A Yds il e} 2 u[\z&ed?ﬁu

A) AsHwL ag ' Al

(B) RAsHV AU V.

© Rl Asna wy 8.

D) 30 ANGE-AsHEL WY .

The facial expressmns of students relate to which element of the commumcatlon

- process ?

(A) Message

(B) Receiver

(C) Sender
(D) Channel

Qenellziiq a1l Hgrvil AsHaL u[%auvu suL u2s A Aoin euld é ?

A) Al
(B) sl
(C) AMs
O as-uel —
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48.

49.

50.

Communication refers to :
(A) exchange of information only.
(B) exchange of feelings only.

(C) exchange of infor'rhation, feelings, emotions and 'v‘iews.

\

(D) exchange of emotions only.
AsHeL ed : _,

Q) Rl sucid-uci W
B) aflalig suett-ugid Wt
© *ledl, awwelil, G2 w1 gﬁe[&-@mg ALELA-UELA

D) GBIl el-Held Hia |

The Indian classrooms are generally best characterised by :

(A) One-way verbal communication

(B) Two-way verbal communication

(C) Onme-way communication

(D) Verbal communication Q

ollcdle qol-visi-l Adiud: Gy A 20Au M YA B ;.
A) A5l s woel gLl Asua . 5
B) el H{is weel gl Asua |
(©) Aol Asna

D) ™5 woel gl AsH

~ Two persons sitting facmg each other are engrossed in thmkmg In this

situation :

(A) There is non-verbal communication.

(B) There is no communication.

(C) There is two-way non-verbal communication.

(D) There is less verbal communication.

Yoot 49 A alld RuBuii Rae 9. u&m&lnt
(A) HUse-AsHRL WY O,

(B) sifua sl Asu ug -l

(©) (a3l xnace-AsHl iy &,

@) MBS woe AsH@ i €iu B,
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